BK Sekvens, S-torp
Hcp 1 Korrigerad 2021-09-28

Partavling, 9 bord, 18 par. Antal brickor: 24. Medel: 192.0.

Plac Par Poang % Namn MID Klubb
1 2 246.3 64.14 Sven Persson - Elly Scholten 78393 14375 BK Sekvens, S-torp - Staffanstorps BK
2 17 229.2 59.70 Boguslaw Wlodarczyk - Nicolae Ostner 20855 4465 Lunds BK
3 18 218.1 56.80 Vibeke Nilsson - Ritva Myrhagen 28173 24760 Staffanstorps BK - BK Sekvens, S-torp
4 14 210.8 54.89 Bibi Bjorck - Gunvor Frid 25077 33411 Staffanstorps BK
5 1 209.8 54.62 Peter Moricz - Gunilla Rasmusson 25801 56176 BK Bridgehuset
6 5 209.0 54.44 Leif Ekblad - Ellinor Ekblad Madsen 56682 56688 BK Sekvens, S-torp
7 11 208.8 54.37 Ulla Aberg - Johnny Nilsson 59978 57017 Staffanstorps BK - BK Sekvens, S-torp
8 3 203.9 53.09 Jonny Kristiansson - Hans Jonsson 405 55726 BK Sekvens, S-torp
9 12 197.6 51.45 Ann-Britt Ingerheim - Anita Martinsson 81755 38033 Svedala BK - Staffanstorps BK
10 16 195.0 50.78 Hanna Lewandowski - Christina Leander 91156 30482 Malmé Dam BK - Malmé BK
11 4 176.1 45.86 Annemarie Ritzau - Majvi Pahlsson 81989 78818 BK Sekvens, S-torp - Staffanstorps BK
12 7 175.0 45.56 Torbjorn Gylje - Christer Ericsson 11004 12224 BK Sekvens, S-torp
13 9 173.0 45.06 Christer Bergman - Torsten Sivermark 67276 67281 BK Sekvens, S-torp
14 13 1727 44.97 Yngve Nilsson - Hakan Myrhagen 5629 411 BK ESS-lov - BK Sekvens, S-torp
15 10 169.3 44.10 Bo Andersson - Bettina Andersson 403 422 BK Sekvens, S-torp
16 6 165.4 43.07 Berry Nielsen - Rolf Méller 5693 12909 Lomma BK
17 8 149.5 38.94 Kjell Kristiansson - Lotten Celander 410 80352 Staffanstorps BK
18 15 146.6 38.17 Bengt Martinsson - Greta Kristiansson 13907 7408 BK Sekvens, S-torp - Staffanstorps BK
1 4 D108 Basta kontrakt 2 4 Kn5 Basta kontrakt 3 410762 Basta kontrakt
Nord v Kn93 14 O =-80 Ost v 9873 ANT O =-430 Syd vKn742 64 O =-1370
Ingen ¢+ D942 NS + E10965 ov + E10
#1084 & ¢ v & NT *K3 & ¢ v & NT #Kn32 & ¢ v & NT
4Kn763 & E95 N7 6566 4 E92 41086 N3 4543 498 « ED4 N12662
v 872 vD1054 S7656 6 v KKn6é vE104 S 34553 vEK6 5 S1266 2
+53 ¢EKn1087 O 6 7 7 7 6 ¢ KKn872 +¢43 O 109 8 8 10 49763 ¢ KKn542 O 12117 7 11
#EDKn2 #7 V677786 «D9 #EKn1052 V 109 8 8 10 #K765 #ED108 vV 11117 7 9
4 K42 4 KD743 & KKn53
v EK6 v D52 vD10983
+ K6 +D +D8
#K9653 #8764 294
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
15 2 INS+1 5 120 159 01]12 11 240+1 +Q -110 16.0 00| 9 14 5¢ O-1 T 100 125 35
18 4 2¢ O-2 &3 100 136 24(13 1 INO+1 43 -120 13.0 3.0|10 17 3NO-1 v8 100 125 35
7 3 INS= »2 90 103 58|14 8 2NO= 43 120 13.0 30|11 6 56 0-1 v¥9 100 125 35
12 11 INS= 46 90 103 58| 6 16 INO+2 44 -150 70 90|16 7 3NV-1 v2 100 125 35
10 5 2v0-1 &9 50 69 91| 7 3 INO+2 #4 -150 70 9.0( 1 12 3¢ O+1 3 -130 5.8 10.3
13 1 INS-1 +5 -50 46 114|115 2 INO+2 44 -150 70 9.0[13 2 3¢ O+1 ¥3 -130 5.8 10.3
9 17 INS-2 *Q -100 24 136(18 4 2NO+1 &8 -150 70 9.0[18 5 2¢ O+3 &9 -150 24 136
6 16 2NS-3 46 -150 0.1 159|10 5 2NV+2 ¢5 -180 20 140| 8 4 3NV= v2 -600 0.1 15.9
14 8 A=/A= 80 80| 9 17 3NV+1l ¢5 -430 0.0 16.0|15 3 A=/A= 80 80
4 ~ E62 Bésta kontrakt 5 D83 Bésta kontrakt 6 4 D8632 Bésta kontrakt
Vast vD5 44 N D -2 -500 Nord v EK72 34 OD-1100 Ost v EKKn74 4¢ O =-130
Alla + ED10876 NS + E632 ov + 104
#Knl10 & ¢ v & NT *42 & ¢ v & NT &K & ¢ v & NT
D85 49 N3 8388 4 E10976 & KKn2 N59 858 4 EKn105 &K7 N2 3866
vE9832 vKKn64 S 383838 vKn8 v D543 S598538 v 65 v 82 S 22865
+9 ¢ K542 O 104 104 5 +Kn ¢ 875 08 4484 +85 ¢ EKKn762 O 10105 7 7
#KD63 #9875 V 104 104 5 #K9765 #D83 V84484 #E7532 #DKné V 10105 7 7
4 KKn10743 454 494
v 107 v 1096 vD1093
¢ Kn3 + KD1094 + D93
#E42 #EKn10 #10984
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
8 4 44 S= vA 620 159 01|17 11 INS+2 &7 150 160 00| 2 1 3¢40-1 ¥¢Q 100 16.0 0.0
18 5 34 S+l ¢9 170 136 24|16 8 INS+1 46 120 140 20|17 11 3v S-1 +8 -50 140 20
1 12 34S-1 vA -100 80 80| 4 15 3¢ S= s A 110 80 80| 9 5 4vyN-2 aK -100 11.0 5.0
9 14 34 S-1 +9 -100 80 80| 6 18 3¢ S= s A 110 80 80|16 8 4vDN-1 +A -100 11.0 5.0
13 2 34 S-1 vA -100 80 80| 9 5 3¢N= v5 110 80 80| 4 15 3¢ O= vQ -110 7.0 9.0
16 7 34S-1 vA -100 80 80|12 7 110 80 80| 6 18 3¢ O= vQ -110 70 9.0
10 17 24 S-2 +9 -200 24 136|114 10 3¢ S= 46 110 80 80|12 7 4¢ 0= 49 -130 20 14.0
15 3 44 S-3 vA -300 0.1 159| 2 1 4¢ N-1 a2 -100 1.0 150(13 3 4¢ O= v3 -130 2.0 140
11 6 A=/A= 80 80|13 3 4¢N-1 3 -100 1.0 150(14 10 4¢ O= vQ -130 20 140
7 4 K1076 Bésta kontrakt 8 » 106 Bésta kontrakt 9 4« DKn1086 Bésta kontrakt
Syd v K106 54 S =650 Vast v 543 44 N D -2 -300 Nord v KD5 34 N =140
Alla + EKn1092 Ingen + D863 ov + E107
*2 & ¢ v & NT #EKn65 & ¢ v & NT «K10 & ¢ v & NT
4« Kn32 4« E8 N 7 107 119 4743 & Kn9 N7 43865 « EK2 475 N67 997
vEDKn74 v93 S 7 107 119 v 106 v EKD972 S7 4385 v 982 vKn103 S679 97
+ D85 ¢ 764 06 3523 ¢ EK9742 ¢ Kn10 O5 9 105 6 ¢ D8543 ¢ KKn 075333
K10 #D98764 V63523 D9 #K103 vV 5 9 105 6 #53 #DKn9862 VvV 7 5 3 3 3
» D954 4 EKD852 4943
v 3852 vKn8 vE764
+ K3 +5 4962
#EKn53 #8742 *E74
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
7 18 INO-4 44 400 159 01| 3 2 4v0-1 4A 50 140 20| 2 9 44 N= vT 420 140 2.0
10 6 3#0-3 4Q 300 125 35(16 9 4v O-1 &A 50 140 20|11 7 44 N= «Q 420 140 20
17 12 INO-3 a4 300 125 35|17 12 50 140 20|13 5 44 N= v3 420 140 20
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1 8 24S+2 ©vA 170 80 80| 1 8 34S-1 vT -50 90 7.0[ 3 4 INN+3 ¢4 180 100 6.0
13 4 24 S+2 45 170 80 80|14 11 34 N-1 ¢A -50 9.0 7.0[10 16 24 N+2 #Q 170 6.0 10.0
14 11 24 S+1 YA 140 46 11.4| 7 18 3vO= 4Q -140 40 12015 6 24 N+2 #J 170 6.0 10.0
3 2 26 N+2 v¥9 130 24 136(10 6 3vO= LY -140 40 120|17 1 170 6.0 10.0
15 5 2¢ N+1 &A 110 01 159|13 4 3vO= 4K -140 40 12018 8 INN+2 #Q 150 20 140
16 9 A=/A= 80 80|15 5 4v 0= +K -420 0.0 16.0|14 12 34 N= vJ 140 0.0 16.0
10 « D987 Basta kontrakt 11 4 EDKn3 Basta kontrakt 12 410652 Basta kontrakt
Ost vD9873 2v S =110 Syd vE1098 24 N =110 Vast v 962 4v V =-420
Alla +ED Ingen + EKn32 NS 4632
*96 & ¢ v & NT 3 & ¢ v & NT *D95 & ¢ v & NT
K6 4Kn10532 N 6 7 8 6 7 a5 # K10986 N6 7887 84 « EK73 N6 33654
v42 v KKn105 S6 7867 v532 v DKn4 S6 7877 v 1085 vED43 S6 3354
¢ K7653 ¢ 10 O7 656 6 ¢ KD985 ¢ 10 O76556 ¢ ED1084 ¢ Kn95 O 7 10108 9
#E843 #D107 V66565 #D974  #KKn85 V76556 #E43 «107 vV 7 10108 9
aE4 4742 4 DKn9
vE6 v K76 v KKn7
¢ Kn9842 ¢ 764 ¢ K7
#KKn52 #E1062 #KKn862
Par Kontr Ut Res Poéang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 5 2NN+1 42 150 160 00|18 9 3vN= *T 140 160 00|16 11 3vy O-1 &2 50 160 0.0
4 3 120 120 40| 2 17 2NN= aT 120 140 20| 5 4 2¢ V+1 T -110 12.0 4.0
14 12 2NS= *3 120 120 40 5 4 INV-2 &) 100 120 40(14 1 2¢ V+1l #Q -110 12.0 4.0
18 8 2NS= 3 120 120 40(14 1 INV-1 *2 50 100 6.0(18 9 -110 12.0 4.0
2 9 3NN-1 vT -100 80 80| 3 10 3NS-2 +8 -100 6.0 10.0( 2 17 2¢ V+2 &5 -130 8.0 8.0
10 16 3NN-2 3 -200 50 11.0({15 7 2v N-2 T -100 6.0 10.0( 3 10 2NO+1 %2 -150 3.0 13.0
11 7 3¢ S-2 v2 -200 50 11.0|16 11 4y N-2 *T -100 6.0 10.0(12 8 2¢ O+3 ¥2 -150 3.0 13.0
15 6 3¢S-3 +K -300 10 150(12 8 2NO= &2 -120 20 140(13 6 2NO+1 &2 -150 3.0 13.0
17 1 3NN-3 a2 -300 10 150(13 6 3¢ N-3 &5 -150 00 16.0|15 7 2NO+1 %6 -150 3.0 13.0
13 « ED7 Bésta kontrakt 14 #1063 Bésta kontrakt 15 43 Bésta kontrakt
Nord v DKn763 3NTN =600 Ost v DKn64 ANT S =430 Syd v 9853 44 VD -1100
Alla ¢ E43 Ingen ¢ EDKn4 NS + K96
»E8 & ¢ v & NT &ED & ¢ v o NT #EKNn963 & ¢ v o NT
464 & KKn932 N 6 109 7 9 4E9872 «D N85 8 9 10 4Kn9876 & EK105 N 104 8 4 7
v92 v K105 S68978 v9 vE108752 S 8 5 8 9 10 v 107 v E642 S 104 8 4 7
¢ 976 ¢ K108 073464 ¢ 97653 ¢ K108 026542 ¢ EKn1085 ¢ 42 0384094
#K109742 #D3 V73464 «107 *864 V26542 »2 *875 V38494
« 1085 & KKn54 & D42
vE84 v K3 v KDKn
¢ DKn52 2 ¢+ D73
#Kn65 #KKn9532 #KD104
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
1 9 3NN+1 49 630 160 00| 6 5 3NN+2 2 460 120 40| 2 10 3NS= +8 600 16.0 0.0
7 13 49y N= a2 620 110 50| 7 13 3NN+2 «Q 460 120 40| 5 12 2NS+1 T 150 11.0 5.0
14 2 4v N= +8 620 11.0 50|15 8 3NN+2 4Q 460 120 40(14 3 INS+2 5 150 110 5.0
16 12 4v N= 3 620 110 5.0(16 12 3NN+2 v2 460 120 40(16 1 INS+2 5 150 110 5.0
17 3 4v N= a2 620 110 50|18 10 3NN+2 vA 460 120 4.0(17 4 INS+2 38 150 11.0 5.0
15 8 2v N+1 43 140 6.0 100 1 9 3NN+1 8 430 50 11.0({15 9 2NS= 46 120 6.0 10.0
4 11 4v N-1 3 -100 3.0 13.0|17 3 3NN+l v2 430 50 110| 7 6 24 V-1 v5 50 4.0 12.0
6 5 4v N-1 *Q -100 30 13.0| 4 11 44 N-2 vA -100 20 14.0( 8 13 4vDN-1 4A -200 1.0 15.0
18 10 -200 00 16.0|14 2 5&#N-3 LYN -150 0.0 16.0|11 18 3NS-2 48 -200 1.0 150
16 4« E1092 Bésta kontrakt 17 & Kn Bésta kontrakt 18 4982 Bésta kontrakt
Vast v Kn86432 6y S =980 Nord v K873 INTO =-90 Ost v EK10852 3¢ OD-1100
ov ¢+ E10 Ingen 4107632 NS + Kn9
3 & ¢ v & NT #KKn8 & ¢ v o NT #106 & ¢ v & NT
4KKn73 464 N 8 4 11108 542 «E10863 N7 7555 «Kn643 4KD10 N8 585 8
vD9 v5 S 8 4 12108 vEDKn92 v65 S77555 v7643 vKn9 S85858
¢ DKn983 ¢ K7642 039122 ¢ KKn9 ¢+ E8 065777 ¢1084  « KD653 0585765
*94 #E8765 V3ogo1l22 «D9 #7643 V65777 *K4 *ED9 V58575
« D85 & KD97 «E75
v EK107 v 104 vD
5 ¢ D54 ¢E72
#KDKn102 #E1052 #Kn87532
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
2 10 4y N+2 46 480 100 6.0(13 9 24 0-3 T 150 160 00|13 9 2y N+l ¢5 140 16.0 0.0
5 12 4v N+2 #A 480 100 6.0|15 10 2¢ V-2 8 100 130 30|17 5 2vyS= *4 110 140 2.0
7 6 4v N+2 #A 480 100 6.0|17 5 24 O-2 &A 100 130 3.0(18 12 INO-2 &2 100 120 4.0
8 13 4y N+2 46 480 100 6.0 4 14 24 O-1 T 50 90 7.0(15 10 2NO-1 &5 50 100 6.0
14 3 5v N+1 2 480 100 60| 8 7 24 0-1 A 50 90 7.0 8 7 2¢ 0= vK -90 8.0 8.0
15 9 4v N+2 @A 480 100 6.0| 3 11 2v V= L) -110 40 120| 3 11 3vN-1 +K -100 6.0 10.0
17 4 5v N+1 #A 480 100 60| 6 1 2vV= s] -110 40 12.0| 4 14 2¢ O+1 +vQ -110 4.0 12.0
16 1 4vy N+1 46 450 20 14.0(18 12 2v V= *T -110 40 120| 6 1 INO+3 &5 -180 20 140
11 18 3v N+2 ¢2 200 00 16016 2 INV+1 ¢2 -120 00 16.0|16 2 3+S-2 a4 -200 0.0 16.0
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19 49742 Basta kontrakt 20 41087654 Basta kontrakt 21 4 D1075 Basta kontrakt
Syd vE762 54 S =450 Vast v K104 ANT V =-630 Nord v E952 44 OD-2300
ov 54 Alla +984 NS ¢ E54
*K95 & ¢ v & NT *4 & ¢ v & NT +Kn4 & ¢ v & NT
10 4 Kn8 N 104 5 108 « DKn » EK2 N50461 « EKKn9862 443 N 6 8 105 7
vDKn95  vK1084 S 105 5 119 v D632 v 98 S50461 v- vDKn74 S 6 8 105 7
¢ ED1086 ¢ Kn972 037823 ¢ KD7652 ¢ E103 O 8 118 7 10| K10 ¢ DKn93 065385
#DKn7 *842 V37823 «D #EK1093 V 8 118 7 10 | #K1052 £763 V65385
« EKD653 +93 a-
v3 v EKn75 v K10863
¢+ K3 ¢ Kn ¢ 8762
#E1063 #Kn87652 #ED98
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
17 6 44 S+2 &7 480 16.0 00|18 1 5¢ V+1 &4 -620 16.0 0.0|13 11 44DV-1 YA 100 140 2.0
5 14 4v S+1 +A 450 80 80| 9 8 5¢V+2 &4 -640 13.0 3.0|16 4 44DV-1 YA 100 140 2.0
7 2 44 S+l #A 450 8.0 80|11 15 5¢ V+2 &4 -640 13.0 3.0|17 7 44 V-2 *J 100 140 20
9 8 44 S+1 #Q 450 80 80| 4 12 3NO+3 v5 -690 90 70| 5 1 4eV-1 ) 50 8.0 8.0
11 15 44 S+1 T 450 80 80| 7 2 3NO+3 49 -690 9.0 7.0[12 15 44 V-1 ¢A 50 8.0 8.0
13 10 44 S+1 &T 450 8.0 80|13 10 -720 6.0 10.0|14 6 44 V-1 vA 50 8.0 8.0
16 3 44 S+1 ¥5 450 80 80| 5 14 6¢ V+1 #4 -1390 30 13.0| 8 3 34V= *J -140 3.0 13.0
18 1 44 S+1 vQ 450 80 80|16 3 64 V+1 &4 -1390 30 13.0|10 9 3a4V= v5 -140 3.0 13.0
4 12 34 S+3 +A 230 0.0 16.0|17 6 6NO= vA  -1440 0.0 16.0|18 2 4vyDS-2 &5 -500 0.0 16.0
22 4 ED7432 Basta kontrakt 23 4 Kn10965 Basta kontrakt 24 48 Basta kontrakt
Ost v9 ANT N =430 Syd vE1094 54 S =650 Vast v K8764 34 VD-1100
ov ¢ K975 Alla ¢D Ingen + D1086
#65 & ¢ v & NT *K86 & ¢ v & NT *752 & ¢ v & NT
4Kn86 #109 N 107 8 1010 4 EK 4 D4 N9 7 7 118 4 KKn962 «E1074 N7 9955
vD1043 vE72 S 97 8 109 v D52 v KKn876 S9 7 7 118 v Kn5 v 1092 S79 955
¢ Kn643 ¢ ED108 036523 ¢ 10742 ¢ Kn965 0466 24 ¢ 753 ¢ K94 06 4485
#102 #Kn943 V35423 #DKn73 #92 V46¢624 #K106 #EKn3 V64484
4 K5 #8732 « D53
v KKn865 v3 vED3
2 ¢ EK83 ¢ EKn2
#EKD87 #E1054 «D984
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
10 9 44 N+1 vA 450 140 20|18 3 44 N+1 &9 650 159 01]17 8 2v S+l 46 140 160 0.0
13 11 44 N+1 vA 450 140 20(11 10 INV-3 49 300 136 24|11 10 2vS= *6 110 140 20
14 6 44 N+1 49 450 140 20|12 13 34 N+2 +6 200 103 58| 5 16 4y N-2 s A -100 12.0 4.0
5 1 420 80 80|14 7 34 N+2 &9 200 103 58| 6 2 24V= v4 -110 100 6.0
17 7 44 N= aT 420 80 80| 5 16 34 N+1 &9 170 58 103| 9 4 24 V+l 8 -140 4.0 12.0
18 2 44 N= ¢ A 420 80 80|17 8 34 N+1 &9 170 58 10.3|12 13 34 V= &7 -140 4.0 12.0
12 15 34 N+1 &3 170 40 120| 9 4 2¢v0-1 +A 100 24 136(14 7 24 V+1l &7 -140 4.0 12.0
8 3 44 N-1 *9 -50 10 15.0(15 1 Pass 0.1 159|15 1 24 O+1 8 -140 4.0 12.0
16 4 44 N-1 3 -50 10 150| 6 2 A=IA= 80 80|18 3 24 0+1 &4 -140 4.0 120
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